ADAPTER WA/ Winner Fluid
]
52 f
0
- 11 S1 900 FLBOW METRIC MALE 24°CONE / BSPT MALE
L1
1CT9-SP 1CT9-SPRNW
1DT9-SP 1DT9-SPRNW
PART NO. THREAD D1 DIMENSIONS
BODY ASSEMBLY E | F TUBEOD | 11 [ | 2| s1 | s2
L SERIES
1CT9-12-02SPZ|[1CT9-12-02SPRNWZ[ M12x1.5 R1/8"X28 6 13 | 28 | 21 11 14
1CT9-12-045PZ| 1CT9-12-04SPRNWZ|  M12X1.5 R1/4"X19 6 155[305[ 255 14 14
1CT9-12-06SPZ|[1CT9-12-06SPRNWZ[ M12X1.5 R3/8"X19 6 16 | 31 | 28 16 14
1CT9-14-025PZ| 1CT9-14-02SPRNWZ|  M14X1.5 R1/8"X28 8 155]305(235] 14 17
1CT9-14-04SPZ|[1CT9-14-04SPRNWZ[ M14X1.5 R1/4"X19 8 155[305[ 255 14 17
1CT9-16-045PZ| 1CT9-16-04SPRNWZ|  M16X1.5 R1/4"X19 10 1751 335[265] 16 19
1CT9-16-06SPZ|[1CT9-16-06SPRNWZ[ M16X1.5 R3/8"X19 10 175[335( 28 16 19
1CT9-16-085PZ| 1CT9-16-08SPRNWZ|  M16X1.5 R1/2"X14 10 21 | 37 | 36 22 19
1CT9-18-04SPZ|[1CT9-18-04SPRNWZ[ M18X1.5 R1/4"X19 12 19 | 35 | 28 19 22
1CT9-18-06SPZ| 1CT9-18-06SPRNWZ[ M18X1.5 R3/8"X19 12 19 [ 35 ] 30 19 22
1CT9-18-08SPZ|[1CT9-18-08SPRNWZ[ M18X1.5 R1/2"X14 12 21 | 37 | 36 22 22
1CT9-22-06SPZ| 1CT9-22-06SPRNWZ|  M22X1.5 R3/8"X19 15 22 | 38 [325]| 22 27
1CT9-22-08SPZ|1CT9-22-08SPRNWZ[  M22Xx1.5 R1/2"X14 15 22 | 38 | 36 22 27
1CT9-22-125PZ|1CT9-22-12SPRNWZ[ M22X1.5 R3/4"X14 15 255|415|435| 27 27
1CT9-26-06SPZ|1CT9-26-06SPRNWZ[  M26X1.5 R3/8"X19 18 255| 42 | 34 27 32
1CT9-26-08SPZ| 1CT9-26-08SPRNWZ|  M26X1.5 R1/2"X14 18 255| 42 |395| 27 32
1CT9-26-125PZ|1CT9-26-12SPRNWZ[  M26X1.5 R3/4"X14 18 255| 42 | 435| 27 32
1CT9-30-08SPZ|1CT9-30-08SPRNWZ[  M30X2 R1/2"X14 22 295] 46 | @1 30 36
1CT9-30-12SPZ|1CT9-30-12SPRNWZ[  M30x2 R3/4"X14 22 295| 46 | 453| 30 36
1CT9-30-16SPZ| 1CT9-30-16SPRNWZ|  M30X2 R1"X11 22 33 [495] 52 36 36
1CT9-36-125PZ[1CT9-36-12SPRNWZ[  M36X2 R3/4"X14 28 33 [495( 49 36 41
1CT9-36-165PZ| 1CT9-36-16SPRNWZ|  M36X2 R1"X11 28 33 [495] 52 36 41
1CT9-36-20SPZ|[1CT9-36-20SPRNWZ[  M36X2 R1.1/4"X11 28 36 [ 525|565| 41 41
1CT9-45-165PZ| 1CT9-45-16SPRNWZ|  M45X2 R1"X11 35 39 [605] 59 48 50
1CT9-45-20SPZ| 1CT9-45-20SPRNWZ[  M45x2 R1.1/4"X11 35 39 [605( 61 48 50
1CT9-52-20SPZ| 1CT9-52-20SPRNWZ|  M52X2 R1.1/4"X11 42 405]635| 63 50 60
1CT9-52-24SPZ|1CT9-52-24SPRNWZ[  M52%2 R1.1/2"X11 42 405|635]| 64 50 60
S SERIES
1DT9-14-04SPZ|1DT9-14-04SPRNWZ| M14X1.5 R1/4"X19 175[325[ 255 14 17
1DT9-14-06SPZ|1DT9-14-06SPRNWZ|  M14X1.5 R3/8"X19 185[345[ 285 16 17
1DT9-16-04SPZ|1DT9-16-04SPRNWZ| M16X1.5 R1/4"X19 185[345[ 265 16 19
1DT9-18-04SPZ|1DT9-18-04SPRNWZ| M18X1.5 R1/4"X19 10 195] 36 | 28 19 22
1DT9-18-06SPZ|1DT9-18-06SPRNWZ| M18X1.5 R3/8"X19 10 195[ 36 [ 30 19 22
1DT9-20-04SPZ|1DT9-20-04SPRNWZ|  M20X1.5 R1/4"X19 12 195] 36 | 28 19 24
1DT9-20-06SPZ|1DT9-20-06SPRNWZ| M20X1.5 R3/8"X19 12 195[ 36 [ 30 19 24
1DT9-20-08SPZ|1DT9-20-08SPRNWZ|  M20X1.5 R1/2"X14 12 215] 38 | 36 22 24




ADAPTER WA/ Winner Fluid
]
59 f
[N}
—
= 11 S1 90° ELBOW METRIC MALE 24°CONE / BSPT MALE
L1

1CT9-SP 1CT9-SPRNW
1DT9-SP 1DT9-SPRNW
1DT9-22-06SPZ|1DT9-22-06SPRNWZ| M22X1.5 R3/8"X19 14 235|415(325| 22 27
1DT9-22-08SPZ|1DT9-22-08SPRNWZ| M22X1.5 R1/2"X14 14 23 | 41 | 36 22 27
1DT9-24-06SPZ|1DT9-24-06SPRNWZ[ M24X1.5 R3/8"X19 16 245| 43 | 335 24 30
1DT9-24-08SPZ|1DT9-24-08SPRNWZ| M24X1.5 R1/2"X14 16 24 | 425|375 24 30
1DT9-24-12SPZ{1DT9-24-12SPRNWZ| M24X1.5 R3/4"X14 16 24 | 425] 435 27 30
1DT9-30-08SPZ|1DT9-30-08SPRNWZ|  M30X2 R1/2"X14 20 28 | 485|408 30 36
1DT9-30-12SPZ|1DT9-30-12SPRNWZ M30X2 R3/4"X14 20 28 | 485|453 30 36
1DT9-36-08SPZ|1DT9-36-08SPRNWZ|  M36X2 R1/2"X14 25 325]1555]445| 36 46
1DT9-36-12SP7|1DT9-36-12SPRNWZ|  M36X2 R3/4"X14 25 325555 49 36 46
1DT9-36-16SPZ|1DT9-36-16SPRNWZ|  M36X2 R1"X11 25 325|555 52 36 46
1DT9-42-08SPZ|1DT9-42-08SPRNWZ|  M42X2 R1/2"X14 30 36 [625( 50 41 50
1DT9-42-16SPZ|1DT9-42-16SPRNWZ|  M42X2 R1"X11 30 36 [625]( 55 41 50
1DT9-42-20SPZ|1DT9-42-20SPRNWZ|  M42X2 R1.1/4"X11 30 36 | 625|565 41 50
1DT9-52-08SPZ|1DT9-52-08SPRNWZ|  M52X2 R1/2"X14 38 41 | 72 | 57 50 60
1DT9-52-20SPZ|1DT9-52-20SPRNWZ|  M52X2 R1.1/4"X11 38 41 | 72 [ 625| 50 60
1DT9-52-24SPZ|1DT9-52-24SPRNWZ|  M52X2 R1.1/2"X11 38 41 | 72 [635| 50 60




